
SAP ABAP table HRPAYCHLAW_LINEVALUE_ELM {Wage Types per Row ELM}

HRPAYCHLAW_LINEVALUE_ELM

SUMLG [CHAR (4)]

LGART [CHAR (4)]

INFTY [CHAR (4)]

ABREH [CHAR (8)]

T512W

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

LGART [CHAR (4)]

ENDDA [DATS (8)]

 HRPAYCHLAW_LINEVALUE_ELM-LGART = T512W-LGART 0..N

0..N

T582A

MANDT [CLNT (3)]

INFTY [CHAR (4)]

 HRPAYCHLAW_LINEVALUE_ELM-INFTY = T582A-INFTY 
0..N

0..N
T596G

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

APPL [CHAR (4)]

SUMLG [CHAR (4)]

 HRPAYCHLAW_LINEVALUE_ELM-SUMLG = T596G-SUMLG 

0..N

0..N

T5C2N

MANDT [CLNT (3)]

ABREINHEIT [CHAR (8)]

ENDDA [DATS (8)]

 HRPAYCHLAW_LINEVALUE_ELM-ABREH = T5C2N-ABREINHEIT 

0..N

0..N


